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Question 1

A) 5000128
B) 5012008
C) 5120080

v’ D) 5120008

Question Type:
Randomize Answers:
Date Added:

Last Modified:

QID#:

Question 2

Multiple Choice
No

Wed 4th Aug 2021
N/A

28,614,491

Choose the correct answer for each question. (20 Marks)

Primary 5 Maths » Primary 5 Maths (Term 2)

Which of the following number is five million, one hundred and twenty thousand and eight?

Primary 5 Maths » Primary 5 Maths (Term 2)
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A) Week 1to Week 2
B) Week 2 to Week 3
C) Week 3 to Week 4

v’ D) Week 4 to Week 5

Question Type: Muiltiple Choice

Randomize Answers: No

Date Added: Wed 4th Aug 2021

Last Modified: N/A

QID#: 28,614,485
Question 3 Primary 5 Maths » Primary 5 Maths (Term 2) 2 pts

Mary bought a ribbon which & 12-m long. She cut ths rikbon and used it io wrap

e |
some parcel. She was left with 2; m of the ribbon. What was the lenglh of the
fibibon shé usad®

A)

v B)
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Question Type: Multiple Choice
Randomize Answers: No
Date Added: Wed 4th Aug 2021
Last Modified: N/A
QID#: 28,614,486
Question 4 Primary 5 Maths » Primary 5 Maths (Term 2)

E ;
Kenny has 49 black and green pans. ;nTﬁ'um are black pens. How many green
pane ooas his hawa?

A) 5
B) 7
v C) 14
D) 35
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Wed 4th Aug 2021
Last Modified: N/A
QID#: 28,614,487
Question 5 Primary 5 Maths » Primary 5 Maths (Term 2)

Michael ran 3.5km. Adam ran hall the distance that Michael ran. John ran 0.45km more than Adam.
What was the distance that John ran?
A) 1.75km
B) 2.15km
v' C) 2.20km

D) 7.45km
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Question Type: Multiple Choice

Randomize Answers: No

Date Added: Wed 4th Aug 2021

Last Modified: N/A

QID#: 28,614,488
Question 6 Primary 5 Maths » Primary 5 Maths (Term 2) 2 pts

An apple cost $0.40 more than an orange. Antonio bought 2 apples and 3 oranges and paid a total of
$7.80. How much did he pay for the apples?

A) $1.40
B) $1.80
C) $2.80
v D) $3.60
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Wed 4th Aug 2021
Last Modified: N/A
QID#: 28,614,489
Question 7 Primary 5 Maths » Primary 5 Maths (Term 2) 2 pts

Rerman was given $50 every month as pochel money for schaol. The graph below
shows the amounl of money he =aved aach manth afler apending sorma of the
pochat maney.

15 =

Amaunt of
BEVINgE:
each
moreh {53

Kanth

Heree much did Raman spand altogethar from Jarmmny to Apnil?
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A) $15
B) $35

v C) $165

D) $175

Question Type:
Randomize Answers:
Date Added:

Last Modified:

QID#:

Question 8

A) $86 200
B) $86 450
v C) $86300

D) $86 550

Question Type:
Randomize Answers:
Date Added:

Last Modified:

QID#:

Question 9

A) 2and3
B) 4and6
v C) 4and8

D) 8and 12

Question Type:
Randomize Answers:
Date Added:

Last Modified:

QID#:

Question 10

Multiple Choice
No

Wed 4th Aug 2021
N/A

28,614,490

Multiple Choice
No

Wed 4th Aug 2021
N/A

28,614,492

Which of the following numbers are common factors of 16 and 247

Multiple Choice
No

Wed 4th Aug 2021
N/A

28,614,493

ClassMarker - Manage Test

Primary 5 Maths » Primary 5 Maths (Term 2)

Mr Tan paid $87 000 for his brand new car when he rounded off to the nearest thousand. Which of the
following could be the actual price of the car?

Primary 5 Maths » Primary 5 Maths (Term 2)

Primary 5 Maths » Primary 5 Maths (Term 2)
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A) 700
B) 7000
C) 70000

v/ D) 700000

Question Type:
Randomize Answers:
Date Added:

Last Modified:

QID#:

Question 11

A) 6.004kg
v B) 6.040kg
C) 6.400kg
D) 6.440kg

Question Type:
Randomize Answers:
Date Added:

Last Modified:

QID#:

A) 3.205
v’ B) 30.205

C) 30.25
D) 50.205

Question Type:
Randomize Answers:
Date Added:

Last Modified:

QID#:

Question 12

ClassMarker

3709 521 =3 000 000 + +9000 + 500 + 20 + 1

What is the missing number in the blank?

Multiple Choice
No

Wed 4th Aug 2021
N/A

28,614,494

Express 6 kg 40 g in kg.

Multiple Choice
No

Wed 4th Aug 2021
N/A

28,614,495

What is the value of 3 tens, 2 tenths and 5 thousandths?

Multiple Choice
No

Wed 4th Aug 2021
N/A

28,614,496
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Question 13 Primary 5 Maths » Primary 5 Maths (Term 2) 1 pt

Which of the following fractions is the largest?

v A)
4
B)
4
C)
4
D)
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Wed 4th Aug 2021
Last Modified: N/A
QID#: 28,614,497
Question 14 Primary 5 Maths » Primary 5 Maths (Term 2) 1 pt

5
Which one of the fellowing does not have the same value as 5 7

v A) 5:3

B) 15+25

? 12

D) 0.6

Question Type: Muiltiple Choice
Randomize Answers: No

Date Added: Wed 4th Aug 2021
Last Modified: N/A

QID#: 28,614,498
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Question 15 Primary 5 Maths » Primary 5 Maths (Term 2) 1 pt

Which one of the following shapes does not have a line of symmetry?

A)

v B)

C)

D)

Question Type: Muiltiple Choice
Randomize Answers: No
Date Added: Wed 4th Aug 2021
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Last Modified: N/A
QID#: 28,614,499
Question 16 Primary 5 Maths » Primary 5 Maths (Term 2) 0 pts

The figure below is symmetrical. Draw the line of Symmetry.

.

Please type "done" to proceed to the next question

Question Type: Essay

Date Added: Wed 4th Aug 2021
Last Modified: N/A
QID#: 28,614,501

Correctly answered feedback

Incorrectly answered feedback
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Question 17 Primary 5 Maths » Primary 5 Maths (Term 2) 0 pts

The i AB Bas been drawn for you, Paint G is ona of the daots given, Draw and
lbel @ Ere from point B 1o the comect dat to form the anghe ABC which is 50°

Please type "done" to proceed to the next question

Question Type: Essay

Date Added: Wed 4th Aug 2021
Last Modified: N/A
QID#: 28,614,502

Correctly answered feedback

https://www.classmarker.com/a/tests/test/?test_id=1792387&trk=edittest_inrow_edit 10/29


https://www.classmarker.com/a/tests/qb/manage/?test_id=1792387&question_id=28614501
https://www.classmarker.com/a/tests/qb/manage/?test_id=1792387&question_id=28614501&duplicate_question=1
https://www.classmarker.com/a/tests/test/order/?test_id=1792387
https://0cm.classmarker.com/6226088_PJ5UW75A.png

9/20/21, 10:09 PM ClassMarker - Manage Test

C =
L]
3
B
Incorrectly answered feedback
C a
"
8
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Qu estion 18 Primary 5 Maths » Primary 5 Maths (Term 2) 2 pts

36 sticks were placed in a row from one end of a field to the other end at an equal spacing of 4 m apart.
10 sticks were removed and the remaining sticks were rearranged from one end of the field to the other
end at a new equal spacing. What was the new spacing between 2 sticks?
Accepted answers:

v 56m

v 56m

v 56

Question Type: Free Text

Date Added: Wed 4th Aug 2021
Last Modified: N/A
QID#: 28,614,503

Correctly answered feedback

36 sticks = 35 gaps

4 x 35 =140

36-10=26
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26 sticks = 25 gaps
140 + 25=5.6m

4 x 35 =140
36-10=26

Incorrectly answered feedback
36 sticks = 35 gaps

26 sticks = 25 gaps
140 + 25=5.6m

Question 19

ClassMarker - Manage Test

Primary 5 Maths » Primary 5 Maths (Term 2)

Meryl, Samantha and Willow had a total of 85 stickers. Samantha had 5 less stickers than Willow.
Meryl had four times as many sticks as Willow. How many stickers did Samantha have?

Accepted answers:

v 10

v’ 10 stickers

Question Type:

Date Added:
Last Modified:
QID#:

Free Text

Wed 4th Aug 2021
N/A

28,614,504

Question 20

Primary 5 Maths » Primary 5 Maths (Term 2)

The table shows the number of pets per studenthas in a class.

Mumbear of
pets per 0 2 3
student

MNumber of 17 12 5
students

How many *::‘t'l.ldEln‘li- have at least 2 pefs?

Accepted answers:

v’ 17 students

Question Type:

Free Text
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Date Added: Wed 4th Aug 2021

Last Modified: N/A

QID#: 28,614,505
Qu estion 21 Primary 5 Maths » Primary 5 Maths (Term 2)

Andrea bought some apples from a supermarket. If she bought 15 apples, she would be left with $3. If
she bought 23 apples, she would be short of $4.20. How much money did Andrea have at first?

Accepted answers:
v $16.50

v 16.5

Question Type: Free Text

Date Added: Wed 4th Aug 2021
Last Modified: N/A
QID#: 28,614,506

Correctly answered feedback
23-15=8

3+4.20=7.20

8 apples = 7.20

1 apple = 7.20+8=0.90

15 apples =0.90 x 15 = 13.50
At first = 13.50 + 3 = 16.50

Incorrectly answered feedback
23-15=8

3+4.20=7.20

8 apples = 7.20

1 apple = 7.20+8=0.90

15 apples =0.90 x 15 = 13.50

At first = 13.50 + 3 = 16.50

Question 22 Primary 5 Maths » Primary 5 Maths (Term 2)

Sasha made a first payment of $34 000 for a car. She then paid $2500 per month for the next 5 months
for the remaining amount for the car. How much did the car cost?

Accepted answers:
v $46,500

v’ 46500

Question Type: Free Text

Date Added: Wed 4th Aug 2021
Last Modified: N/A
QID#: 28,614,507

Correctly answered feedback
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5 months - 2500x5=12500
total = 12500+34000=46500

Incorrectly answered feedback

5 months - 2500x5=12500
total = 12500+34000=46500

Question 23 Primary 5 Maths » Primary 5 Maths (Term 2) 2 pts

There are 50 cent and $1 coins in a bag. There are 16 more 50 cent coins then $1 coins. The value of
all the $1 coins is $1 more than the value of all the 50 cent coins. How many $1 coins are there in the
bag?

Accepted answers:

v 20

Question Type: Free Text

Date Added: Wed 4th Aug 2021

Last Modified: N/A

QID#: 28,614,508

Question 24 Primary 5 Maths » Primary 5 Maths (Term 2) 1 pt

A container has a mass of 10 kg when it is filled with water completely. The same container has a mass
of 6 kg when it is half filled with water. What is the mass of the container when it is empty?

Accepted answers:
v’ 2kg
v 2KG
v 2

Question Type: Free Text

Date Added: Wed 4th Aug 2021

Last Modified: N/A

QID#: 28,614,509
Question 25 Primary 5 Maths » Primary 5 Maths (Term 2) 2 pts

Mr Matthew spent $320 on 5 shirts and 2 pairs of pants. The cost of 6 shirts is the same as that of 4
pairs of pants. Find the total cost of one shirt and one pair of pants.

Accepted answers:
v $100

v 100
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Question Type: Free Text

Date Added: Wed 4th Aug 2021
Last Modified: N/A
QID#: 28,614,510

Correctly answered feedback

3S+58=8S

8S-> 320

18-> 320+8=40
2p->40x3=120
1p->120+2=60
18+1p=40+60=100

Incorrectly answered feedback
3S+5S=8S

8S-> 320

18-> 320+8=40

2p->40x3=120

1p->120+2=60
1S+1p=40+60=100

Question 26 Primary 5 Maths » Primary 5 Maths (Term 2)

Alyssa had some chocolates. The number of chocolates that

Alyssa had was less than 20. She could pack all the chocolates into bags of 6 but when she packed the
chocolates into bags of 8, she would have 4 chocolates left over. How many chocolates did Alyssa
have?

Accepted answers:

¥’ 12 chocolates
v 12

Question Type: Free Text

Date Added: Wed 4th Aug 2021
Last Modified: N/A
QID#: 28,614,511
Question 27 Primary 5 Maths » Primary 5 Maths (Term 2)

- ;Il 1
Fosna baked some mufiins. 5 of them weare chocolate miefins, Eﬂr tham

wers banana muffing and the rest were Blueberry muffing, She zold all 30
blueberry muffing, How many muffing did she make albogather?

Accepted answers:
v’ 225 muffins

225

https://www.classmarker.com/a/tests/test/?test_id=1792387&trk=edittest_inrow_edit
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v
Question Type: Free Text
Date Added: Wed 4th Aug 2021
Last Modified: N/A
QID#: 28,614,512
Correctly answered feedback
2
—— 30
15
1 &
—=>30+2=15
15
15
) 15x 15 = 225 muffins
—_— RS
Incorrectly answered feedback
2
—— 30
15
1 &
——>30+2=15
15
15
i 15 x 15 = 225 muffins
Question 28
each child receive?
Accepted answers:
v 0.75l
v 0751
v 0.75
Question Type: Free Text
Date Added: Wed 4th Aug 2021
Last Modified: N/A
QID#: 28,614,513

ClassMarker - Manage Test

Primary 5 Maths » Primary 5 Maths (Term 2)

Mdm Siti made 6L of fruit punch to be shared among 8 children. How many litres of fruit punch would

https://www.classmarker.com/a/tests/test/?test_id=1792387&trk=edittest_inrow_edit
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Primary 5 Maths » Primary 5 Maths (Term 2)

Question 29

There are 42 adults in a room. They are put into groups. Each group consists of 3 females and 4
males. How many males are there in the room?

Accepted answers:
v’ 24 males

v 24

Question Type: Free Text

Date Added: Wed 4th Aug 2021
Last Modified: N/A
QID#: 28,614,514

Primary 5 Maths » Primary 5 Maths (Term 2)

Question 30

The average number of stickers that Jane and Ken have is 104. Jane has 52 stickers. How many
stickers does Ken have?

Accepted answers:
v’ 156 stickers

v 156 =

Question Type: Free Text

Date Added: Wed 4th Aug 2021
Last Modified: N/A
QID#: 28,614,515

Correctly answered feedback

104x2=208
208-52=156

Incorrectly answered feedback

104x2=208
208-52=156

Question 31 Primary 5 Maths » Primary 5 Maths (Term 2)

Allie wanted to buy 54 sweets. The sweets were packed into packets of 9. Each packet cost $4.50.
How much did Allie have to pay for the sweets?

Accepted answers:

v $27

27
https://www.classmarker.com/a/tests/test/?test_id=1792387&trk=edittest_inrow_edit

1 pt
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v

1

are girls?

v 6-Nov

Question Type: Free Text
Date Added: Wed 4th Aug 2021
Last Modified: N/A
QID#: 28,614,516
Question 32
Find the value of 24+8 x (4+5) - 15
Accepted answers:
v 12
Question Type: Free Text
Date Added: Wed 4th Aug 2021
Last Modified: N/A
QID#: 28,614,517
Question 33
Find the value of 0.04 x 800
Accepted answers:
v 32
Question Type: Free Text
Date Added: Wed 4th Aug 2021
Last Modified: N/A
QID#: 28,614,518

Question 34

Accepted answers:

ClassMarker - Manage Test

Primary 5 Maths » Primary 5 Maths (Term 2)

Primary 5 Maths » Primary 5 Maths (Term 2)

Primary 5 Maths » Primary 5 Maths (Term 2)

3
— af the audiznce af a concart are adulte and the rest are childsen, There ars

three times as many girls as boys at the concert, Whiat fraction of the audisnce
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Question Type: Free Text

Date Added: Wed 4th Aug 2021
Last Modified: N/A

QID#: 28,614,519

Question 35 Primary 5 Maths » Primary 5 Maths (Term 2) 1 pt

1 3 -
Lifian bought 20 kg of rice. She wsed 0 of it on Monday and; kg on Tussdsay,
How many kilograms of rice had she eft?

Accepted answers:
v’ 17 1/4kg

v 17 1/4 kg

Question Type: Free Text

Date Added: Wed 4th Aug 2021

Last Modified: N/A

QID#: 28,614,520

Question 36 Primary 5 Maths » Primary 5 Maths (Term 2) 1 pt

Every month, the average number of books borrowed by 7 girls from the the library is 4 books. How
many books did they borrow altogether in a month?

Accepted answers:

v’ 28 books

Question Type: Free Text

Date Added: Wed 4th Aug 2021

Last Modified: N/A

QID#: 28,614,521

Question 37 Primary 5 Maths » Primary 5 Maths (Term 2) 2 pts

Mandy had 5.4m of ribbon. She gave 1.05m of ribbon to her sisters and cut the remainder equally into
6 pieces. What is the length of one piece of ribbon?

Accepted answers:

v 0.725m
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v 0.725m

v 0.725

Question Type: Free Text

Date Added: Wed 4th Aug 2021
Last Modified: N/A
QID#: 28,614,522

Correctly answered feedback

54-1.05=4.35
4.35+6 = 0.725m

Incorrectly answered feedback

54-1.05=4.35
4.35+6 = 0.725m

Question 38 Primary 5 Maths » Primary 5 Maths (Term 2) 1 pt

5
There were 72 childran at & party. z of them were boys. Later, 5 more girls
|oined the panty. How many girls were there at the party in the end?

Accepted answers:
v’ 17 girls
V17

Question Type: Free Text

Date Added: Wed 4th Aug 2021

Last Modified: N/A

QID#: 28,614,523

Question 39 Primary 5 Maths » Primary 5 Maths (Term 2) 2 pts

Mandy, Kristen and Eva bought some stickers. The total number of stickers that Mandy and Kristen
bought was 120. The total number of stickers that Mandy and Eva bought was 48. Kristen bought 9
times as many stickers as Eva. How many stickers did Kristen buy?

Accepted answers:

v’ 81stickers

v 81

Question Type: Free Text
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Date Added: Wed 4th Aug 2021
Last Modified: N/A
QID#: 28,614,524

Correctly answered feedback
8u->120-48=72

1u ->72+8=9

9u -> 9x9=81

Incorrectly answered feedback
8u->120-48=72

1u ->72+8=9

9u -> 9x9=81

Question 40 Primary 5 Maths » Primary 5 Maths (Term 2) 2 pts

L ]

The figure: below is made up of 1 small rectangle and 1 large rectangle. The

breadth of the farge rectangle is twice the breadth of the small rectangle. Find
th area of the figure, ’

8cm

!

15 cm

20 cmi

Accepted answers:
v’ 240cm2
v’ 240 cm2
v’ 240C M2

v’ 240

Question Type: Free Text

Date Added: Wed 4th Aug 2021
Last Modified: N/A
QID#: 28,614,525

Correctly answered feedback
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15+3=5

15-5=10

Big rect = 20 x 10 = 200 ¢m?
Small rect — 8 x 5 =40 cm?
Total = 40 + 200 = 240 ¢m?

Incorrectly answered feedback

15+3=5

15-5=10

Big rect = 20 x 10 =200 ¢m?
Small rect — 8 x 5 =40 cm?
Total = 40 + 200 = 240 ¢m?

Question 41 Primary 5 Maths » Primary 5 Maths (Term 2) 2 pts

5 -
WAr Malik e Same foys ;-::11 them were oy cars and the rest ware toy trains.

There were 180 more loy cars than toy trains. Find the tolal numbesr of toys
[ir Walik had

Accepted answers:
v’ 420 toys

v 420

Question Type: Free Text

Date Added: Wed 4th Aug 2021
Last Modified: N/A
QID#: 28,614,526

Correctly answered feedback
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7 5_2
77T 7
5 2_3
7 7 7
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;> 180
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7
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Incorrectly answered feedback

=] | L
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~1 | B
|
w3t

=] |
4
—
e s
=

$~+13n+3=ﬁn

7
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Question 42 Primary 5 Maths » Primary 5 Maths (Term 2)

Mr Tan bought 30 crates of cranges Each crate containg 120 aranges. He
& ; ]
packsd B of tham equally in 150 boxes and used 0 of the remaming eranges to

mzka juice. Ha threw away the rest of the orangea as they wera rothen,

{@) How many oranges were there in each box?
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2 pts

23/29


https://www.classmarker.com/a/tests/qb/manage/?test_id=1792387&question_id=28614526
https://www.classmarker.com/a/tests/qb/manage/?test_id=1792387&question_id=28614526&duplicate_question=1
https://www.classmarker.com/a/tests/test/order/?test_id=1792387
https://0cm.classmarker.com/6226088_KN8KDNUJ.png

9/20/21, 10:09 PM ClassMarker - Manage Test

Accepted answers:
v 25 oranges

v 25

Question Type: Free Text

Date Added: Wed 4th Aug 2021
Last Modified: N/A
QID#: 28,614,527

Correctly answered feedback

oranges — 120 x 50 = 6000

%—: 6000 - 8 = 750
5
> 750 x 5= 3750

3750 = 150 = 25 oranges

Incorrectly answered feedback

oranges — 120 x 50 = 6000

%—: 6000 - 8 = 750
5
> 750 x 5= 3750

3750 = 150 = 25 oranges

Primary 5 Maths » Primary 5 Maths (Term 2) 2 pts

Question 43

(b) How many. oranges did he throw away?

Accepted answers:
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v’ 225 oranges

v 225

Question Type: Free Text

Date Added: Wed 4th Aug 2021
Last Modified: N/A
QID#: 28,614,529

Correctly answered feedback

3 10

8 710

10
;E—ITSI]'H.3=IIEB
BN et

10 10 10

1
=2y 2250 + 10 = 225 oranges

Incorrectly answered feedback

= | @
L]
@l
i
&

3 10
B‘-_} 10

19 _y 750 x 3=2250

10
. R
10 10 10

1
=y 2250 = 10 => 225 oranges

Primary 5 Maths » Primary 5 Maths (Term 2) 1 pt

Question 44
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The perimeter of a rectangle is 80cm. The length of the rectangle is four times the breadth of the
rectangle. What is the length of the rectangle?

Accepted answers:

v 32cm

v’ 32cm

v 32

Question Type: Free Text

Date Added: Wed 4th Aug 2021

Last Modified: N/A

QID#: 28,614,528

Question 45 Primary 5 Maths » Primary 5 Maths (Term 2) 2 pts

The following {abie shows the numbar of points Linda had scored in & fama

af 4 rounds.
[ Round Nurnber of points
1 15
2 12
3 13
= 16

How mary more points does Linda need =0 that the awerEqe number of
points for each round will be 157

Accepted answers:
v 8 points

v 8

Question Type: Free Text

Date Added: Wed 4th Aug 2021
Last Modified: N/A
QID#: 28,614,530

Correctly answered feedback
15+12+13+16=56

16x4=64

64-56=8

Incorrectly answered feedback
15+12+13+16=56

16x4=64

64-56=8
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Primary 5 Maths » Primary 5 Maths (Term 2) 2 pts

Question 46

Fatimah had three times as many ice cream sticks as Angela. Mandy had 15 less ice cream sticks than
Fatimah. If they had a total of 195 ice cream sticks, how many ice cream sticks did Mandy have?

Accepted answers:

v 75

v’ 75 ice cream sticks

Question Type: Free Text

Date Added: Wed 4th Aug 2021
Last Modified: N/A
QID#: 28,614,531

Primary 5 Maths » Primary 5 Maths (Term 2) 2 pts

Question 47

Tarry had some beads. He gave 35 beads to Dan and 47 beads to Anil. He then bought 145 new
beads. After that, he gave 73 beads he had to Gene. He was finally left with 98 beads. How many

beads did Terry have at first?

Accepted answers:
v’ 108 beads

v 108

Question Type: Free Text

Date Added: Wed 4th Aug 2021
Last Modified: N/A
QID#: 28,614,532

Correctly answered feedback
35+47-145+73+98=108

Incorrectly answered feedback
35+47-145+73+98=108

Primary 5 Maths » Primary 5 Maths (Term 2) 2 pts

Question 48

2 1 -
There are equal number of boys and girks In a schoal, 3 of the boys and g of

the giris wear spectacles, There arg 252 boys and girls who waar spectacies.
Hever moany boys and girls ang thene in the schoot atlogether?
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¥’ 540 students

v’ 540

Question Type:
Date Added:
Last Modified:
QID#:
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ClassMarker - Manage Test

Accepted answers:

Free Text

Wed 4th Aug 2021
N/A

28,614,533

Correctly answered feedback

_ 14
30

1 i
EE—} 252+14=18

=~ —* 18 x 30 = 540 students

Incorrectly answered feedback

14

30

1 i
EE—} 252+14=18

0 —» 18 x 30 = 540 students

https://www.classmarker.com/a/tests/test/?test_id=1792387&trk=edittest_inrow_edit

28/29


https://www.classmarker.com/a/tests/qb/manage/?test_id=1792387&question_id=28614533
https://www.classmarker.com/a/tests/qb/manage/?test_id=1792387&question_id=28614533&duplicate_question=1
https://www.classmarker.com/a/tests/test/order/?test_id=1792387

9/20/21, 10:09 PM ClassMarker - Manage Test

www.classmarker.com

https://www.classmarker.com/a/tests/test/?test_id=1792387&trk=edittest_inrow_edit 29/29



